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def predict(image):
# 7777

return class_1label
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def train(train_images, train_labels):
# Build a model for images --> Tlabels...
return model

def predict(model, test_images):
# predict test labels using the model...
return test_Tlabels
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def train(train_images, train_labels): boipp slocawdy 9 (98T 4o9atn ol das
# Build a model for images --> labels... — Jlww b6 @ |, ["I,d/,w v
return model

def predict(model, test_images): ) o )
# predict test labels using the model... S u”‘%f Q@Y b1, S99 )T pol sty
return test_labels Y Oy (90T Ae9088 ;5 p ol (o P unils
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import numpy as np
Class NearestNeighbor:

def __init__(self):
pass

def train(self, X, y):

X 1is N X D where each row is an example. Y is 1D of size N
# The nearest neighbor classifier simply remembers all the training data
selt.Xtr = X
self.ytr = y
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def predict(self, X):
“”” X 1s N x D where each row is an example we wish to predict label for

num_test = X.shape[0]
# make sure that output type matches the input type
Ypred = np.zeros(num_test, dtype=self.ytr.dtype)

# Joop over all test rows
for i in xrange(num_test):
# find the nearest training image to the 7’th test image using L1 distance
distances = np.sum(np.abs(self.xXtr - X[i, :]), axis=1)
min_index = np.argmin(distances)
Ypred[i1] = self.ytr[min_index]

return Ypred
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